Name:_________________________________________________________ Class:_____________

Learning Target: I can find the percent of a quantity.

Notes: Using decimal multiplication
· First, convert the percent to a decimal by looping the decimal point two places to the left.

· Once you have rewritten the percent as a decimal, multiply the decimal by the whole number.

· Remember, when multiplying decimals, you ignore the decimal point until you have finished multiplying.  Once the multiplication is complete you loop the decimal as many times to the left in the product as there were decimal places in the equation.
Examples:
(1.) What is 32% of 80?

Solution using a proportion:
 part    =     part
whole       whole
 32     =       x
 100           80
32 x 80 = 2560
2560 ÷ 100 = 25.6
25.6 is 32% of 80.





A. 4.2 

B. 25.6 

C. 32

 D. 80
(2.) 5. The original price of an i-pod is $80.00. There is a 25% discount off the original price. What is the sale price of the i-pod?

Solution using a proportion:
part    =     part
whole       whole

  25      =       x
 100             80

25 x 80 = 2000
2000 ÷ 100 = 20

Since it is asking for the sale price, the last step is to subtract the discount from the original price to find the sales price
80 – 20 = 60









Answer: $60.00
Explain how you arrived at your solution.



I arrived at my solution by creating a proportion.  I know percentages are out of 100, so I had to determine what piece of 80, 25% represented.  I cross multiplied and divided.  It turned out that 20 is 25% of $80.00.  The last step was to subtract the discount, $20.00 from the original price, $80.00.  Therefore, the sale price is $60.00
Directions: Solve decimal multiplication:

1. What is 40% of 120?

Answer:__________________________

2. What is 25% of 10?

Answer:__________________________ 
3. The library surveyed 200 people about their favorite type of movie. If 35% of the people chose action, how many people chose action?

Answer:__________________________

4. The original price of a pair of jeans is $32. The discount is 15% off the original price. What is the amount of the discount?

Answer:__________________________

5. The original price of a bicycle is $150.00. There is a 30% discount off the original price. What is the sale price of the bicycle?

Show your work:









Answer:________________________
Solution using decimal multiplication:


25% =              = 0.25


      80


  x .25


    400


+1600


  2000





  20





Solution using decimal multiplication:


32% =              = 0.32


      80


  x .32


    160


+2400


  2560





  25.6








